6. High level shelf

Position each shelf bracket at the desired height on the inside of the posts. Allow a gap at the back of the bracket
for the shelf bracket back board to sit between and flush to the back edge of the posts. Secure each bracket using
2 x40mm screws. When both brackets are in place fix the shelf bracket back board to the back edge of the brackets using

2 x 40mm screws at each end of the board. Screw the five hooks into you desired location. Place the two shelf boards H H
on top of the brackets and secure each board at each end with 2 x 40mm screws. M UItlfunCtlon Table

Important note:\
Ensure the brackets

are positioned
so that the shelf
bracket back board
fits between the

Important note:
When attaching the shelf
brackets, they can be set

at you're preferred height.

Assembly Instructions

Before assembly

©We recommend that time is taken to
read the instructions before starting
assembly, then follow the easy step by
step guide. The instruction sheet is only
a guide to the assembly. Certain items may
not be shown to scale.

e Check all components prior to assembly

e This product should be assembled
by no less than two people

e Drill all components where indicated

e Some of the components may have sharp
edges wear protective work gloves while
handling components.

Caution
This product
contains sheet
metal. Wear
protective work
gloves while
handling these
components.

posts.

& L[N

drill Gloves

Recommended tools for assemb
e Power drill/screwdriver

o 3mm drill bit

Cross head screwdriver bit

Tape measure

Rubber mallet

It is recommended to drill a
pilot hole for each hooks with
a 3mm drill bit.

Spirit level
Sharp knife
No. Components Qty.
| [Back panel |
2 | Left panel |
3 | Right panel |
Important note: 4 Fr.ont rails 2
The five hooks can be positioned 5 [ Mid shelf support 2
- at you're preferred location. 6 | Shelf 2
For example, they can be evenly 7 | Shelf coverstrips 2
spaced along the shelf bracket 8 | Work I
backboard or into the worktop orK top
sides. 9 | Metal work top | A
10 | Work top sides 2 @
Il | Work top back board |
12 | High level shelf posts 2
13 | Shelf bracket 2
\\ 14 | Shelf bracket back board |
- i 15 | Shelf board 2 )
Information 16 | Shelf back board I |
|
No. Fixing Kit Qty. |
17 | Hook 5 i
" | he auality of | } 18 | 90mm screw 16 |
tantly i tl i ts, i 1
e oty s e iy o o redus ey (19 | 40mm screw 39
only _?_orrgct atftime of %rinting4_‘/}\‘/e reserve the_ right to change the 20 | 30mm screw 4
specification of our products without prior notice.
21 | 14mm screw 6 0 o




|. Back and side panels

Insert the back panel into the rebate on the back leg of each side panel. If necessary use a rubber mallet to tap into place.
Secure each side panel in place using 2 x 90mm screws. Screw through the pre-drilled holes in the side panel into the
ends of the back panel.

Position the middle shelf supports at the desired height and attach to the inside of the side panels. Secure each one using
2 x 30mm screws, screw through the panel into the shelf support. Ensure both supports are at the same height. Insert
a shelf at the bottom so that it rests on the frame of the side panels. Rest the second shelf on the middle shelf supports.

Important note:
Ensure the shelf supports are at
the same height

3. Front rails
Position the front rails between the side panels secure through the pre-drilled holes using 2 x 90mm screws at each end

of each rail.
§%

Important note:
The lower rail must sit
lower that the top edge

of the shelf to allow
for the coverstrip to sit
on top.

4. Work top and shelf coverstrips

Place the work top onto the assembly ensure it has an overhang at the front and a gap at the back to allow for the work
top back board. Secure the work top down using 5 x 40mm screws. Attach the work top sides and back board using 4
x 40mm screws each side. Attach a coverstrip to the top of the lower front rail using 3 x 40mm screws. The remaining
coverstrip is secured to the front edge of the middle shelf using 3 x 40mm screws. Place the metal work top onto the
top of the assembly and secure in place using 6 x 14mm screws.

Important note:
Ensure the the work top over hangs at the
front edge and there is a gap at the back to
allow for the work top back board.

Caution:

The Metal work top
may have sharp edges.
" Wear protective gloves

Gloves whilst handling this part.

5. High level shelf posts

Determine the height you require the high level shelf and secure the shelf posts accordingly. Attach each post to the legs
on the back of the assembly using 2 x 90mm screws per post. Fix the shelf back board to each post using 2 x 40mm
screws.

Important note:
Ensure the posts are at the same height

40mm

90mm






